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GUIDED NOTES: Compound Interest
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EX1. What amount will 2n account have afier 5 years if $75 is invested at 8.5% interest compounded
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E)’thﬁ:‘f‘ the amount owed &t the end ofPQ_ years if $5000 is loaned at a rate of 6% interest compounded
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EX3. Determine the amount that must be invested at 6% interest compounded monthly, so that $200,000 will

be available for retirement in 20 yéars, *-;)
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EX4. What amount invested at 7% interest compounded continuou or 4 years will yield $7007?
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EXS. If $600 is invested at 6“;, interest compounded continuously, how long will it take before the amount is
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EX6. How long does it take E15QO fo double if it is invested at 6% interest compounded semiannually?
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